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Note : Attempt all questions.

Instructions :

(if)

TR HUF 1 TS T T 3HE @vS (31), @S (F) W@ EE (H)
wirer & | 7% @og # 5 g § a9 W 99 W 1 of% omefed §1 gfe
aiftra foremelt w7 & @y feu mo fAdw & oft orem w0

Question No. 1 is objective type question. It consists of Section (A),
Section (B) and Scction (C). Each section has § questions of' 1 mark
each. Visually impaired students follow the instructions as given with
the questions.

U9 FHiE 2 A 6 aF AfAHFa0d T § | T W W 2 3 anafea § |
(YT I T SAfeehad U §Wl J0 = €)

Question Nos. 2 to 6 are very short answer type questions. Each
question carries 2 marks. (Maximum word-limit of cach answer 1s 30

words)
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(iv)

()

Questior ;
1 Nos. 11 10 14 arc short answcr type questions. Each question

carries 4 m; ; .
marks. (Maximum word-limit of each answer is 75 words)

mmw@mtﬁ?ﬂﬁuw%lmmmsmmﬁiﬁa%n
(W IW & AHferemam vz 100 1= ¥)

Question Nos. 15 and 16 are long answer type questions. Each question

carries 5 marks. (Maximum word-limit of each answer is 700 words)

(vi) I A 17 TH 18 IHIOT UV ¥ | TF W W 6 3iF st ¥

(YF I HT Afhan wee-E 150 wi=e )

Question Nos. 17 and 18 are long answer type questions. Each question

carries 6 marks. (Maximum word-limit of each answer is /50 words)

-1

(@Ue-37) el faswey g7 fafau : [1x5=5]

(Section-A) Choose and write the correct option :
(i) el T TR B T -
(37) 1.53

(=)

1.52

() 143

(%)

1.33

Refractive index of water is :

(a)
(b)
(c)
(d)

1.53
1.52
1.43
1.33
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(i)

(iii)

(iv)

13)
A NG FIFROL -

(37) IR F pH 7 & 9

(§) WRpH 5.5 4 51
(®) ¥R pH 6.5 B =

(%) TR pH 7.5 ¥ atfums &) vy

The cause of tooth decay is :

(@) pH of saliva becomes 7

(b) pH of saliva is less than 5.5
(¢) pH of saliva becomes 6.5

(d) pH of saliva is more than 7.5

M & IS W T 2234 FIS, 56 Wit 3 3 W @A § @ oo
(37) €

(F) 3=

(F) AR

() frfyea =t €

There are about 2234 insects, 56 birds and 3 snakes on a mango
tree, then the pyramid of energy would be :

(@) straight

(b) inverted

(¢) rectangular

(d) uncertain

Fd AU ¥

(37) Hg (¥ Br
() Cs (3 Au
Liquid non-metal is :

(@) Hg (b) Br
(c) Cs (d) Au
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v) qaﬁmmﬁmwﬁmt:“l
(37) faga St
(%) T=Hg Fi
(8) Rt

(%) 9o et

The main source of energy on the earth is :

\

(a) electrical energy
(b) magnetic energy
(c) solar energy

(d) wind energy

(Tvs-a) fiam i #1 qfd #ife [1x5=5]
(Section-B) Fill in the blanks :

() A T O @ —— damd

The chemical formula of ethanal is :
(i) fagga fava &1 SI 7@ —— @ 21
SI unit of electrical potential is .
(ifi) ‘gPIfgwa’ (Ecosystem) V55 &1 94N ¥ad qget —— 1 fofan
‘Ecosystem’ word is first used by .
(iv) 7% Q —— 1 6@ O ¢ |
_____is secreted by liver.

(v) 99% 3 W12 7% & 7@ —— a0 weem ¥

Elements of group 3 to 12 are known as elements.
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(&)

() TR F Gy
(i) EHTS Ty

(jif) et o

(iv) UH 9 ag
(v) ST QR

[5]

(Section-C) Match the following :

(A)
(/) Plant of pea

(if) Plane mirror

(iii) Red rose

(iv) Absolute zero
temperature

(v) Iron pyrite
3mﬁﬁfznuﬁt%;ﬁ$¥ﬂﬁaqz"ﬁ.ammviaﬁﬂf%nxuaﬂttﬁtﬂﬁaiﬂﬁr%?

How does the ionisation energy change in a group of periodic table?

aTqees R FEd 8 7

What is called decompo3er?

(a)
(b)
(c)
(d)
()

(a)
)
(©)
()

(e)

(@)
FeS2

T =Y ufferwr
-273°C

(B)
FeS,
Indicator
Mendel
Mercury polish

—273°C

ﬁﬂmﬁﬁﬁzﬂﬁﬁﬁﬁmﬁa@qﬁmﬁwﬁﬂ:

C,HsCl, CH,OH
Identify and write the functional group

compounds :

C,H;Cl, CH;0H

S e w7

What is thermal bad conductor?

from the following organic

[1x5=5]

[2]

(2]

[2]

[2]
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(6]
I 5 w8 ¥ 7 'L

What is called zygote?

e dur a1 ey § T & wifeaw @9 F A g weRia

Fz:  ghe wfim frandt fa & o W Hiea YH & IHW I
SR AT & W A IR T IUAr A

Draw a diagram of Kelvin scale thermomcter by showing lowest and

highest temperature on 1t

Note : Visually impaired students will write the lowest and

highest value of temperaturc and one use of Kelvin scale.

Buge & JuaRty fan &1 sgew afew sgmu) (3

Explain Mendel’s law of segregation with example,

T Hoil diene ! Hog | 75 J. T W el et B, ot waw @ 9
mﬁm%ﬁmﬁﬁm(ﬁmwrﬁmmﬁm=gj [3

A fish seems to be at the depth of 75 cm from the surface of a pond,
then find out its actual depth from the surface. (Given refractive

index of water = %)

farega oftey & daifira fner weat & W fag asa -
(i) SER

(ify faga a9

(i) V=&

[1x3=3]

Draw the symbols of the following components related 10 electric circuit :
(i) Ammeter

(¢7)  Electric bulb

(i) Cell

S-6C
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[7]
ufe W'E‘EWIUPAcwnmqammﬂﬁﬁérm

fafe ) |
[2+2=4]
Write th
e the ITUPAC name and formula of ethyl alcohol and any two
uses of it.
sferar
OR

e {0t o TR T e g ferar s w2y s e

Write the chemical name and formula of bleaching powder and any

two uses of it.

e T8 Fed § ? 37 ol %1 fafaa) [2+2=4]
What is placenta? Write its two functions.

arerar

OR

drei # ag s aﬁaﬁaﬁmﬁﬁwamw—@mml

Write the names of two vascular tissues found in plants and write one

function of each.

e & 7 T B R [2+2-4]

e 9
What are adaptation and fossil? Explain with example.

ive characters‘? Explam w:th example-

—_ P.T.O.




FUW: 13,7, 2, 8 WA EU | TY MR R Fawgy, i -9 faeaa— [1x4=4
(i) vaa oncfig ¥

(i) A E

(iii) oo adad

(iv) wee gria @

Sonakshi tested P, O, R, S four solutions from universal indicator

and found pH values 13, 7, 2, 8 respectively. On this basis, tell about

the solution which one is—
(/) strong acid

(ii) neutral

(iif) weak alkali

(iv) strong alkali

OR
T e 1 U] AT 11 ®
(37) TH I HI YgaAE AW fafay |
(%) sy e WOl & T6 9 B WY e ffa
(9 wqﬁﬁaﬁﬁwvﬁﬁmaawaﬁﬁml
(?) ¥ d@ &l goragie fa=amw fafey

Atomic number of an element is 11 :

(a) ldentify and write name of this element.

(b)

Write the group number of this elemen iy, modern perj
i ; - periodic
(c) Write the period of this element in g demn periog: table
Odic table.




TH-16

generator.
Re~— B

() wFm ey
¥ 1 SRt #if [2+142=5]

(a4) What is cajlegd refractive index? Write its formula
(b) Define refraction of light. |

ey
OR

(3) ﬂ?ﬁaaﬁmmmg?mmml
(3) 99 H B g = Rt i

(a) Whatis called spherical mirror? Write its types.

(b) Define focal length of mirror,

(37) Toga ST & gefera Iudim g ¢ it Tl fafam)
(F) woaEdl 9 g fee yrr & #9182y s fafau [3+2=5]

(@) Write any three safety measures while using electrical

appliances.

(b) Write any two differences between alternating current and
direct current.

arerar
OR

(37) e & g A T farae

(@) Write any three properties of magnet.

flerences between electric motor and electric

(b) Write any two di

P.T.O.




[10]
(3) S 9 374 F sitferas Toit & snem W A or=n fafaw )

(F) Heamw frd wed # 2 dumn @ 79 & 21 @ T At [3+3=6]

-1y

(@) Write three differences between metal and non-metal on the

basis of physical properties.

(A) What is Corrosion? Writc any two methods to prevent corrosion.

raar
OR

(37 ‘e g 3w #§ A e fafaa

(7) afFa S 25t v @R U waiies 9ied e T g9 B
wiwa urg = W fafag |

(a) Write three differences between mineral and ore.

(b) Define Activity Serics and write the name of one most reactive

and one least reactive metal.

ae-18 (o7 st avfefa 3 ety # €1 A vae F afeare
T AT O FIE (FE ) |

(q) e B ® @ o s au fHEl | el % it
HITAT |
Hz: it anfer faeet fas & T ww dfaT S & fafie
T T FUiT ST |

[2+4=6]

(@) Differentiate between processes of respiration in the presence
and absence of oxygen (any two),

(») Draw neat and clean diagram of nerve cell and label any four
parts of it,
Note : Visually impaired students describe the different parts of

nerve cell in place of diagram.




[11]
T
OR

(37) TR Hfeenal ¥ waren % forg f-fe AR F SR T o
ST (FE ) ?

(9) T = w5 o sy gon feel wmre st Y =it Fifig)

Te: Fhe wivm frereft fom % W™ W 3g@ ¥ PR wmi =
U N |

(@) What are the different aspects that need to take care of|, for the
health of pregnant women (any two)?

(b) Draw aneat and clean diagram of heart and label any four parts
of it.

Note : Visually impaired students will describe different parts of

heart in place of the diagram.

..........



